/\“—ZQUJ— (ERON)’

TOMMY BAR SCREWS  No.E-9965

SUM22 BRY

ol
W A
iSS
/_ To
L
7
C D >
>
4
7
N
J
Wik - g * EEEED
F—5"—No. No. A®) - B . C D . E  F G . H . |  EEg | fW
% 938528 | BSM05025 | M 5x0.8 19 25 12 3 37 32 10 5 10 | 2,130
% 938530 | BSM06025 | M 6X1 19 25 12 3 45 32 10 5 11 | 2,130
% 938531 | BSM06035 [ M 6X1 29 35 12 3 45 32 10 5 16 | 2,170
% 938532 | BSM06050 | M 61 44 50 12 3 45 32 10 5 20 | 2,240
% 938533 | BSM08025 |M 8x1.25 18 25 14 4 6.2 45 12 5 20 | 2,400
% 938534 | BSM08035 |[M 8x1.25 28 35 14 4 6.2 45 12 5 23 | 2,400
% 938535 | BSM08050 M 8x1.25 43 50 14 4 6.2 45 12 5 48 | 2,420
% 938536 | BSM10035 |M10X1.5 = 26 35 16 6 8 45 16 5 42 | 2,630
% 938537 | BSM10050 |M10X1.5 41 50 16 6 8 45 16 5 48 | 2,630
% 938538 | BSM10060 |M10X1.5 = 51 60 16 6 8 45 16 5 57 | 2,990
% 938539 | BSM12050 | M12X1.75 . 41 50 20 6 9.7 50 20 6 80 | 3,910
% 938540 | BSM12075 |M12X1.75 66 75 20 6 9.7 50 20 6 105 | 4,120
%938541 | BSM12100 |[M12x1.75 91 100 20 6 9.7 50 20 6 120 | 4,470

m{ERE

SINCE 1560

NABEYA co,uo. CADF—995v0O—F « EHEREE Web ¥/ hT ! [ AT \ G}\ 795

2023.7.21






